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1. (8points) Find a particular solution of y"—4y' + 13y = 2sindz.
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2.

Wniz#3 KEY
(7-points) Use the meteod of variation of parameters to solve
49" + 16y = sec 2z tan 2z.

The DE im Stamdaod ﬁv’m A ‘j+ﬁ‘ﬂ-

Q =) Y‘—!—‘fr—_o =) v= F24 =

= C, (os2xX + Y St 2.5C

wﬁﬂ

Sec2x 'fa-q 2

ﬁp = A, CoS2x + M Sim 26

whost M':J\:j—cmgﬁgxﬁ f

WAN» ‘d‘* Casz,oc) \j?— - 5mzx) w =
‘& ?F,LSGQZJL’/‘MZ)L.

_____.; BlE J(Sfmwt) Cr., Sec2x fmll) Ay = _Ly’f'am 22 AN

2
--_:,—> /M.\ ':""’é‘j(-ggcl’z_{)i(:—ﬁr{-wz’(-l' J&—I
XK /U\?_ o _\g j(@osam)(&czxfmu)dx:—émj'f‘wzxa‘)k
= U = _v__%fmzxj.
) ks & = & z_a(.;~-LX)C'052JL
:j._c Cagzx_f_c SsMA)(—i-( [ & /

caszx Sim21 \_2

_2Sim22C 2 (ALK

e

_.--—-ﬁ/; Sec 2ot /( Sm 32(
_‘L jé _



KFUPM SEM II (Term 072) Name C\’)’“ Iz #S K £ )/
MATH 260-1-3 Quiz# 3 ID#: (/KE D Sec.#: __ Serial #:
N—— S

y' — 6y + 13y = 3cos2z.
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1. (8-points) Find a particular solution of
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2. (7-points) Use the meteod of variation of parameters to solve
3y + 27Ty = csc 3z cot 3z.
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